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In any A ABC, the following relationship holds :

2 _ _ 2
n, m, |[R r, r<rb rc)

—_— < — =
hZz = h, 2r+ r, 2(s—a)

Proposed by Bogdan Fustei-Romania
Solution by Soumava Chakraborty-Kolkata-India

Stewart's theorem = b?(s — ¢) + ¢2(s —b) = an? + a(s — b)(s — ¢)
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Now,

~ h2 IS 7 4ris? "~ 4s2r2 4s2y2
s—a
2.2 2 _ — 2 2
a“mg, a (ana sa(s a)) _ ng, a (m _ S(S _ a))
4s2y2 4s2y2 4s?r2 © 4g2p2°\ ¢
aZ
nZ a? n2

:h_ﬁ-l_m (ma—s(s—a)) nZ

L b + A A-G N
< m, < ¢ > Vbc.—— S(S >m2—-s(s—a) > 0)

> —
= 2 cos
2 2
n; m, (R ra—r(rb—rc)
=S ot . vV A ABC,
h2 h, .|2r r, 2(s—a)

=" iff A ABC is equilateral (QED)



